[ number of missing inner layers |

[ number of missing outer layers |

1e Entries 531921 1e - —| Entries 531921
E Mean 0.03804 E : + [ Mean 1.318
F Std Dev 0.2033 : . |Std Dev 1.961
L S — L SR S S [
107 Entries 531921 107 : [Entries 531921
F Mean 0.03804 F = : Mean 1.318
o Std Dev 0.2033 o : . std Dev 1.961
-2 2L e E s eeiiiiitiiiiiii..
10 E Entries 10 E i [Entries 531921
F Mean F ' ' Mean 1.318
3 r Std Dev 3 I N . |.Std Dev 1.961
10°F 107 e pree :
o Entries o : : Entries 531921
o Mean o . . Mean 1.318
104 B Std Dev 104 B : . | Std Dev 1.961
10—52_ S S S 10—52_ ........ .......... LA ; ......... PR
105@,""!""!""!' | A Y T T 10% ....!. ||
r i | ________________________ SRl N
- T | R i | 'l' | i
0,95 e 0.95 : :
0 05 115 2 25 3 35 4 45 5 0 5 10 15 20 25
= DQV_TT_MS
e DOM_TT_MS_detT
if| w— DOQM_TT_MS-detT1
mean hit 7= poM-TT-MS derTos
20 5 — Entries 531921
o 10 E Mean 11.39
18 F Std Dev 6.672

16
14
12F
10F

Entries 143225

R S A Mean 2.115

lo Std Dev 5.971

: |

F Entries 143225

ol ] Mean 2.115

lo E . . Std Dev 5.971

F H H H |

B Entries 143225

Y T L] an 2115

10 °E ' : LIS‘\E_DEV 5971
E : : 5

r : Entries 143225

_4 N Mean 2.115

10°° T [ Std Dev 5.971

T |_|_,",_|_| T
—
—
—
——
-
——
——
——
——
=
—
—_
—
—
" —
" —

10*

10°

102

10

=
T

531921
11.39
6.672

+ [Entries

531921

11.39
6.672
Entries 531921
Mean 11.39
Std Dev 6.672

iy
TTTT] T

1]
i

o
o

5 10 15 20 25 30 35 40

[Nofreco track vs pT |

= - Entries 741712

N . Mean 0.4462

1 . Std Dev 3.239
10y T T i
: Entries 741712

: Mean 0.4462

10,2 ___________________ ._ ______ Std D:ev S.ZSE?I
E Entries 741712

- Mean 0.4462
10—3_ __________________ Std Dev 3.239
E Entries 741712

- Mean 0.4462

10—4 Lo s = | Std Dev 3.239

_5 H
10 s [ AR -
;}#4 :#*%%HH it
0.95— . : v .

10 1 10 10 10



	Contents
	Page 1


